wrglt] aflswrggrar /| MODEL QUESTION PAPER - 2019 - 20
Grodifener @ et min ayefr® | X1 STANDARD
Senrdpl uflalnsy [ ACCOUNTANCY
Bl ibhpn gy idlas s { TAMIL & ENGLISH VERSION

Bmireo: 15 e iemair + 2.30 wamf] Sorgg G uarss 90
Time allowed: 15min + 2.30 hours Maximum marks: 90

Hisyemrsdr. (1) samerbm allamrsspmb sfurs udars e sragr STETLIG DGR a1 LT g4
Qarsrarain, ésliudlald sonafmida ympd sarsrafciurami
ez nirsd SEfalssaln,

(2) Fank mysvnig s mLY sowulemear wl GG o (L S D i D
B hGETIRHaEHSD LwaTuREs FuaTFid. UL tiser susniang D Busrdli
vwsiuBdaapb,

Instructions: {1) Check the question paper for fairmess of printing. If there is any lack of
fairess, inform the hall supervisor immediately.

(2} Use Blue or Black ink to write and underline use pencil to draw diagrams.

gl — 1 | Part-| [20 X 1 =20]
@iy () spenergs aflsrd.s gmdssn sl weflssay b,

(i) ParGéadol L mran allmossfid sy e s afla uflener

B85 By milef ek ailsn Lullsnaruib Borggy sropsay.

Mote: (i) Answer all the questions

(il) Choose the most sultable answer from the given four altematives and write the option
code with the coresponding answer
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1, pugene @upr uf GG Qs turer Lipssam. ahs aurdalun gFflwrargl sjda?
) Bls psng denssmer ubla) Qe mhleflud sdraoupn wan
) Drrémh whpih SyerEri seers s enss wi b afssm LrrmeoiflE s G R m s
@) sufl B mrflssr epond 6o flimsd
) (B Syemann dif) ST W S EN LTS SR E LD BTy ih

Which one of the following statements is not true in relation to incomplete records?
a) It is an unscientific methed of reconding fransactions
b} Records are maintained only for cash and personal accounts
¢) Tax autherities do not accept
d} It is suitable for all types of organizations

2. o femwwrerflar Gerggsssd § 85,000 wppd Surgriysst T 20,000 ablarefli
SR pH Blprens meiaearsy?
=) ¥ 65,000 =) T 1,086,000 &) % 21,000 &) ¥ 85,000
What is the amount of capital of the propriator, if his assets are ¥ 85,000 and liabilites are 2
20,0007
(a) ¥65,000 {b) 21,06,000 {c) 21,000 (d) 285,000

3. Ueraugmasranhils srg amaimd whHpn Gemaliar sl uglu Oi(Freugliianss
o) snypw Ssddlgrersdr allhng
5] SFriz allhosmear dgrar mUL b
@) Glaweorarn e apidlu whlogSub
F) psnpsaar allhimg.

Which of the following should not be racorded in the income and expenditure account?

(a) Sale of old newspapers {b) Loss on sale of assel
(¢} Honorarium paid to the secretary (d) Sale proceeds of furniture

4. gm warpsdla o_arear 100 o_gofetsd san@ shsrars T 500 GQegubgidemeni
B i iy e Saiqapsiver FhaT @drergpd Gup o rgg T 200 e Ly Cuhmn ShsT
7 300 srenfleir umeauris whgib Gy semadd arilc o Suamgw sher Gares.
) F 50,000 ) T 50,200 () ¥ 49,900 w) T 49 800
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There are 100 members in a club each paying ¥ 500 as annual subscrption. Subscnption
due but not received for the cummant year is ¥ 200; Subscription received in advance is ¥
300. The amount of subscription to be shown in the income and expenditure account is.

(a) ¥ 50,000 (b} ¥ 50,200 (c) 49,900 (d) T 49,800

5. Feireu Hararay fadd stgy FAwHn @mm;

o) e BLSeT g i - e sewsdd upgy evaussii Ban(id
o) ysd Fg an'n - S sl auray snausslu Saus(Hid
@) s fig an’ g i (Pl memTdaE LDD eauss i Seusim G
) @leomen’ Ll ey - P&l SomEAl sure) snadsOuL. SosnHid
Which of the following is the incorrect pair?

(a) Inlerest on drawings - Dabited 1o capital account

{b} Interest on capital - Credited to capital account

(c) Interest on loan - Debited o capital account

{d) Share of profit - Credited to capital account

8 sl raflsgmds FeoeGu s L revemie Ghuisb BdaownsBurg pea 5 aly

=) apmELLag Fdma ) ] af BEgld aupdis il
&) e 5% auypsisiiufio ) sl Fde 6% apisoufie
In the absence of an agreement among the partners, interest on capital is
{a) not allowed (b) allowed at bank rate
(c) allowed @ 5% per annum (d) allowed @ 6% per annum

7. ilsiwaumib surdalwsdisnadley orgy sfwrang?
o) BHEUWT G LwenTaTd Glargs
S} BoEluwT G FCiyE il
&) sheuwE i shusnard Glerga
=) BR AL snar aurkis (1pig Ty,
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Which of the following statements is true?
{a) Goodwill is an intangible asset
(b Goodwill is a current asset
(c) Goodwill is a fictitous asset
(d) Goodwill cannot be acquired

8, srred ewrun ¥ 50,000 whpnt sraorew sorun ¥ 30,000 srafld awi ri!.HrLu'n
&) T 80,000 =) ¥ 40,000 &) % 20,000 =) ©15,000

When the average profit is ¥ 50,000 and the normal profit is £30,000, super profit is
(a) ¥ 80,000 (b) ¥ 40,000 (c) 220,000 (d} ¥15,000

9. gt T-gg e iy wed 2-8_ 6 @UaBC B sflwrar allenemw £GEy GlarHidson Bever
Ffwrar gl vwdruRsH Ssday Eleiuea)n

Lt g e 1 g 2
i} Alarrs aildlsmn 1. sh@uwi
i) crmip soroh psitey aflfsn 2, Ldliha Srredmih
i} eomeCn T B st i 3 ugleymr Gl umming
i) & semTEs A, o i el ®afishr parglinn

{1y gy (i (v
(o) 1 2 3 4

() 3 2 4 1
@ 4 3 2 1
(®) 3 1 i 2

Match List 1 with List 2 and select the comect answer using the codes given below:

List 1 List 2
{0 Sacrificing ratio 1. Goodwill
{ii) Oid profit sharing ratio 2. Accumulated profit
(i)  Revaluation Account 3. Unrecorded liability
(W)  Capital Account 4. Partnar's Salary
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Codes:

i ) ()
(a)
{b)
(e)
(d)

L e L
1

B OKO&
R = = &

10, urer whmud Atsgeart @aru pldaaear 5.3 aeirn alldssfd Lihs abseT
Syjeui&sr Favant aaruareny 15 srdrp Bleory undlbe sl raflurs Ssidgis
aram_ari glurs all@smn.

) 1:3 ) 3.1 @) 5:3 =) 3.5

Bala and Keerthana are sharing profits and losses in the ratio of 5:3. They admit Eshwar as
a partner giving him 1/5 share of profits. The sacrificing ratio is.

(a) 1:3 {b) 31 {c) 5:3 (d) 3:5

1. sl L rafl allwsadsr Gurg GurgEsroy wrppoufeag
) Spenalhal il el sefler gsd seridnE
o] afllamin st rafullar s s ansslhE wl i
&) Glmre_yeh sl rellaaflaér gpmsh semisis
w) (5 eubipier srgifsbam e

On retirement of a partner, general reserve is transferred to the
(@) Capital account of all the pariners
(b) Capital account of retiring partners only
(c) Capital account of the continuing partnars
(d) None of the above

12.A, B whmii C srsiin s o reflssr 2:2:1 srennp afldlsgdla aro plo gms udlddm

wggeni B alasefer Surg fmaengdlar piGowd 30,000 srar wf0fle don’ o g
a1 wefl B-dg oR Qelaughs A whgie C-ar udsafloy.
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) 20,000 whgns 10,000
24) 28,000 o 34,000
@) $10,000 whgd ¥20,000
/) 215,000 wi_Hin 15,000
A. B and C are pariners sharing profits in the ratio of 2:2:1, On retirement of B, goodwill of
the firm was valued as ¥ 30,000, The contribution of Aand C to compensate B: is
(a) ¥ 20,000 and % 10,000 :
{b) ¥ 8,000 and 2 4,000
() % 10,000 and T 20,000
(d) Z 15,000 and ¥ 15,000

13, gpsirgilemins Lkl eTarLig
(1) Fenavusrar afldis Sl LR ST LD (ol g0 i s o 6 0 upsirggnflemeemucs Gluhp L
(i) semso 0 DadrBurg LB (pmemet 25 1 1 0% L 20 5 0 T 65T apedr gmufleniosnn s GlubHm L
) (1) e B #iflurarg
1) (i) el (BB FusTETS
@) bipre () shumeey
&) (i) whmd (i) saupraraa
A preference share is one
(i) which carries preferential right with respect to payment of dividend at fixed rate
{ii) which carries preferential right with respect to repayment of capital on winding up
{a) Only (i) is correct
{b) Only (ii) is correct
(c) Both (i) and (ii) are comect
(d) Both (i) and (ii} are incorrect

14, ook @i wig e 10 wglinyeni_ar 100 ukigssner 3)ns samipliys  BuTims
72 Qogudsraprd @iy Sriimgl e SERETESID Lk GlsTsTny 7 0 g
wmyEauafuf G Gedniiuc e ar. upssilar mrfpe wrpoiu. Saedrigu (AET
(=) T 700 {-g) T 800 (@) T 900 (=)  1.000
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Super Ltd. forfeited 100 shares of 2 10 each for non-paymant of final call of ¥ 2 per share.
All these shares were re-issued at ¥ 9 per share. The amount will be transferred to capital

reserve account, is
(2) ¥ 700 {b) ¥ 800 (c) ® 800 {d) 1,000

15, (8 fama ayfismsadr uglurdalis darags s soall wd G ._usu':;:r@aéﬁ-rnr
afluriismann b ugglirdsy SslasnE o Dy LT L.

) BlrrEs UL Ll o) Glurs syerey pfdens
@) Ul B sypflEms ) Burdis Sguiey
Which of the following tools of financial statement analysis is suitable when data relating to
several years are to be analysed?
(a) Cash flow statement (b} Common size statement
(c) Comparative statament (d) Trend analysis

16. g sussflsgdler meorwrs [ Cemapsar T 70,000 Blorawi ri guamge Slesaps
T 77,000 g5 subad\dm. 3 mhas Birem b o s o Surss afldze?
=) 10% a1 110 % &) 90 % & 11%
Expensas for a business for the first year were ¥ 70,000. In the second year, it was
increased to ¥ 77,000, The trend percentage in the second year is
(@) 10 % (k) 110 % (c) 80 % (d) 11%

17, yo-ays Glurpiysdr alldlsin sjoral G

&) sodn srar s_dr £k me #nsr o) Beders are s Firsmin Hme
&) Farud LB Sne we) (alerwa sl m ssr
Debt equity ratio is a measure of
(&) Short term solvency (b) Long term solvency
() Profitability (d) Efficiency

18, m iy Sumgyony T40,000 pedy Serds T1,00,000 srés Gomoy 320,000 aeafls allmray
aflaflmin
=) 1:1 5,) 501 an 12 =) 2:1
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Current ligbilities ¥ 40 000; Current assets ¥1,00,000 ; Inventory 20,000 , Quick ratio is
(a) 1:1 {b) 5:1 {c) 1:2 {d) 2:1

19 el Ciuglay ervarprausmnh CLa-ld ashsrs vusTuGEs ouFAng
&) semsvsmioliugley
) Sgreuss vwsrorCghsrs asulld B mis orbids Grrssh
&) Phenasr '
F) Dlermgpdsene S_gnidE aurbdug
Confra voucher used in Tally for
(a) Master entry (b) Withdrawal of cash from bank for office use
(c} Reports (d} Credit purchase of assets

20. sysnmaEssen sLgnbes suridumg S ef-uli aEg s FraTnraeErSS Ogu

e efer (G

] BLmimeimeir bt 0T s ) el @ oCul FrernrasmTn
() S Fasmm Taswin =) GlFg) S S 6T FTEiT e S D

In which voucher type credit purchase of furniture is recorded in Tally

{a) Recaipt voucher (By<Journal voucher

ic} Purchase voucher (d) Payment vouchear

w11 | PART — I [ X2=14]
oy =) amaugn 7 alarrssenss alme efissa b allanr aer 30485 800 rwers
uf waflss Seaustarfib
o) Barur@ srigs alarrssemes 50 anibassesss dsros) aflene spafldan b

Mote: (i) Answer any seven questions

(i) Question Mo. 30 is compulsony.
(lii} Answer to theory questions should not exceed 50 words
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21 Dewwaumip allougdrmedloflmbay @lawvun gdsem sl L b sere gdlweajn

alflaurib ¥
5Ty 63T DETL A& 156l 5,00,000
S, dereg sir (Flmyall apaed 8,50,000
SysnuTan (R blErerE auhs (1pSe 2,00,000
oF S0 T ST BT ST (L0 1,50,000

From the following particulars ascertain profil or loss:

Particulars ¥
Capital at the beginning of the year 5,00,000
Capital at the end of the year 8,50,000
Additional capital infroduced during the
2,00.000
year
Drawings during the year 1,50,000

2. @eru Brréspp oy awolldr ypsedlo supsjEaia @S rardlemar sims
Give four examples for capital receipts of nol-for—profit organisation.

23, ursipmyaen sTeTD Sl Lrafl eiBlamrm wrg pHaligyd T 20,000 a@sgs Ssravoaf,
sRy g el iy ebrBam 6% samedlis Gaanfiin. 2019 pedor 31 g srBarry
apigaueni ufih e (Eiae fw srGioyssT Fn 'y seow sl
Balamurugan is a pariner who withdrew Z 20,000 regularly in the middle of every month.
Interest is charged on the drawings at 6% per annum. Calculate interest on drawings for

the year ended 315t December, 20197

24 . 711 raiwenie Bnisuerd Sl mhSuweny ef00G0 afsgn Bran§ mpElaeaosanar
Braji
State any two circumstances under which goodwill of a partnership firm is valued.

20, sghreay whnnd wdkiur FETT sl L rallssr [Feaoru Bl tisenar 4:3 sy alldlssd

ualihg subgeri 31 .3, 2018 syeipy sendes sraruai yglw sei L reflwrs Gaisgs
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s rarerliul L rr GersensolarEu 5 Slguadaraesetel) Glorgisriyg € 42,000 sar
il g Qurg srodfaer odiths sefoosperer mAlOGulE ufalensr sray
Sanjana and Bhavya are pariners sharing profils and losses in the rafio of 4:3. On
31.3.2018, Sanjeav was admitted as a partner. On the date of admission, the book of the
firm showed a general reserve of T 42,000, Pass the journal entry to distribute the general

reserva.

26 usrur allfimd adrnrsd ek’
What is gaining ratia?

27 wlarrsrsr senrwgy glpued T 10 wflogsrer 50,000 wdigamar ¥ 2 weercsga
Glaefiul L gr. mymarggs Osramsyn alarariugme st Gupouccar, gfoSulF
uglalleanar &5,

Manoharan Lid, issues 50,000 shares of 10 each payable fully on application. Pass
journal entries if shares are issued at a premium of ¥ 2 per share,

28, flfflener oy fildensseir wreng?
What are financial statements?

29, B sfl—ulld LwedruFEanh o Baah Fran® sensdlud oyfsmssman faps
State any two accounting reports used in Tally.

3. miy el gsseng sersdFs; Swrdgs sy Surmdngsear T 2,40,000, Qurgs seiy

Frggmssar T 480,000
Calculate current ratio: Total current liabilities ¥ 2,.40,000; Total current assets ¥ 480,000,

Ligsgl 1l 1 PART = 1l [7 X 3=21]

L TulTE =) aBsgulb aup allmrdssnds alleor gefldsaph alarm aar 40 &0 rund aflane

&) arfl ey
o) Bard vir@ srihs allsrrssgnse 150 artgemssamss dlsres allen
yafl s sayib.
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Note: (i) Answer any seven guestions in which question No. 40 is compulsory.
(i) Answer lo theory questions should not exceead 150 words

N G@riee udle wepdon ehoe Yusudupr uHZuBsmimns Gl Gu  syer
EamporrfssT a@sgmib apdnn Hms.
State any three differences between double entry systam and incomplete records.

32. gy weinnd e 2020 wrid 31 b FrdarE gy aen b g sTgHeTar (=i 1

s maalled e aumio el srdisrm Garermun?
: :

aflsurid 142019 (®) | 31.3.2020 (%)
i 3,000 5,000 |
GiLim Esu aliig wig
yhteniy  @up 4,000 6,000
| b

Sysusu g s Suhn shar 45 000
How the following items will appear in the final accounts of a club for the year ending 31st

March 20207
Partioulars 1.4.2019 (2) | 31.3.2020 (3)
Outstanding subscription 3,000 5.000
Subscription  received in 4.000 | 6.000 |
advance

Subscription received during the year: ¥ 45,000.

3. vall, AT wpguh Gert HABwrt g FarersSer s ralsdr, sl rsTame

gouraesnn Fldwrs3urg deragaarapmo aaamg EwhHss dral o’

() rall o sflsai pad wpddysmarrt ek pad o ol y sanBas 10%
FER AT

(i} #leil Gleorugdanar gpash alldlas i udibgafiss Gasbrfio seprr. e
S SN DD S rallssr glgs Ssrdaeralldme,

() grori Flpeuarsdhg sopdifla s sr T 50,000 sqoui s st Bgr ol iy o a5
12% BauswrBub sreiray EsmmEpri,
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Ravi, Sibi, and Kumar are partners in a firm. There is no partnership deed. How will you
deal with the following?

(i) Ravi has contributed maximum capital, He demands interest on capital at 10% per
annurm,

(i) Sibi demands the profit to be shared in the capital ratio. But, others do not agree.

(i) Loan advanced by Kumar to the firm is ¥ 50,000. He demands interast on loan @ 12%
per annum.

34, gn 11 remmemonils HSuwfsr wimu Siureflégn srreaflsd aGsgul fupsiT e emenT
alilgurl.
Explain any thres factors determining the value of goodwlll in a partnership finm.

35, mypgeds wpHmb Esaisit G me e S L Tafiadr, HaE 5 s Flseruib whpd
Bl disamer 5:3. srairp afldsg gl ualipg GararLlspent, BEruTe) ereTUsISnT LA W
s _meiwms Beidmn Curg syautsdr eraimin wpigaser srlisent.
(i) sie b wdodsmer T 40,000 g5 e wibs SuswEio,
(i) @ wp i sy 14,000 sysnpemevsin wloy # 12,000 (560 nds Qavsm(iio
(i} taghhaypr e micig T 6,000 uglay Brdiuden., Gauamib

Ajay and Devan are partners sharing profits and losses in the ratio of 5:3. In the view of
Gopal admission, they decided

(il Toincrease the value of building by T 40,000,

(i} To decrease the value of machinery by T 14,000 and fumiture by ¥ 12,000

(i) An unrecorded liability # 6,000 has to ba recorded now.

36. mhdiel, sbgwur whd rrdgay erdnn el iy HiameT Faoru GO tsenss 3033
sremp allfpdsd udliha abgert. 2019 gebor 3 ey BESel sl L rawenwani
afl (5 afsmdl pri. Al BTsr SYEETDI S hesL L LS s T 1,00,000 suray
@ mlemud ST W

Heraumin B ensosafsy mAlu3ulF ulalmars 55
(i} syomhE Ssgiss Cuamguw Darms o Larigurs Elrgndsirun g
(i) mymymds Seguss Gammpw GHTEESNL B LT LTS Bleghih s it alldems
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(i) myoumdipn Clrgnds Bauamyw Bgranseliss ¥ 50,000 p_anguwrs srBsrena) gpai
g sl gl

Mandhini, Sandhiya and Rajesh are partners sharing profits and losses in the ratio of 5:3:3
respaclively, Nandhini retires from the firm on 31st December, 2019, On the date of
refiremeant, her capital account shows a credit balance of 2 1,00,000.
Fass joumal entries if:

{I} The amount due is paid off immediately.

(i} The amount due is not paid immediately.

(iii) £50,000 is paid immediately by chegue.

3. elFhgst susmrwmy Blouen usiblsrdarmués T 10 wddysrar T/ sympssouc e 20

ar g TRt uigmener eoiliply Sedigs, shd 0 srdrusant uligasndsrar aflsraaTiub
whnik &L R uewin? § Brgysddlmisnt saunia 15 uihmsd garmas 6 of s
Sumhmsblaram® T T wapash Srandsdiunl ukigmserrs wBsay sTaTunRES W
fatausiiuT i GlFimdn L g ks gouonfpoy whoen wiy Slaraflufc g psrar @l oo 7
Uil samer &%,
Senthil Lid. forfeited 20 aquity shares of ¥ 10 each, ¥ ¥ called up, on which Sandesp had
paid applcation and allotment money of ¥ 5 per share. Of these 15 shares wera reissued (0
Magesh by receiving ¥ 6 per share paid up as ¥ T per share. Pass joumnal entries for
forfeiture and reissue

38, Fr&fmiy warhIy STaD STATNTE eTeTer? (F & sTalenT Seardal Ui T
What iz inventory comversion pericd? How is it calculated?

39, sewflaflvud sersdlwud peonelld uwdrorBaeis aBsgb apsrfenan allardgs .
Explain any thres applications of computenzed accounting systam,
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40. Beirou e pUTLE aumorer sildmsmu Hroys

@ mansullsr @il Llei |
allsurii 2019 | 2020 bt =B (+)
(¥ )empeirev gy D EORE
mmmay (-) wenney ()
T L 4 ¥ o
allusnen gpsuih 4,00,000 | 5,00,000 25
Eluhm aumeaaTil
st (s By cemeeneee | 1,80,000 -20,000 10
531 T, LD T 60T 1Rl 5 17
sufldigh (et Faornd | 200,000 | ————-— +1,20,000 +60
Sifids aymorer aunfl 40,000 | 1,860,000 +1,20,000 e i
aumen Sl Lieerd x
o_aiTar (%] e Lt 1
Complete the fallowing comparative statement.
r | Absolute amount Percentage
Particulars 2019 2020 | of increase (+) or | increase (+) or
decrease (-) decrease (-)
4 ks 2 8
Revenue from 4,00,000 | 5,00,000 e e 25
aparations
Less: Operating | ——-——-- | 1,80,000 -20,000 =10
QUPENSES |
Profit before tax 2,00,000 +1,20,000 +50
| Less: Income tax 40,000 | 1,60,000 +1,20,000 s
Profit aftertax | == — -
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L — I/ FART -1V

B mn ) AT T 450 55 aflsnweflds ey
Answer all the guestions.

[7 X 5 = 35)

41, ) [Brrpgsit WenmwITET HEnTE S s smars Feruppalldana. s hemLw
_&Mﬂﬂ'ﬁ'ﬂ@m E@ahuﬁ;_ﬁnﬂ-ﬁ.‘lsi i Rl aum Lo

afleuyts 1-1-2019 (%) | 31-12-2018 (%) |
ansuf iy @rrdsi 80,000 90,000,
sl R 1,B0,000 1,40,000
s meiine 90,000 2.00,000
uhuw sLatEGari 1,30,000 1,95,000
Ak S 60,000 60,000
RrgudsHs i wrHpsf G 80,000 45,000
Gurg o Gwhsrn 1,70,000 1,70,000

Sysuaureng i) syt Ssranl abs e psa ppaér T50,000 wihpn syed

allwirU TS Sl nhsl SeTgmen. Elewhs U wgydsTS wrgEEsrme T2,500 srBdHgs

Qameier . Sunhmere. Haeu s afedlmbg @eomu B gl En s Al Ay LD,
(. aysioarg)
) Uleraumin oo sedls s hs Eline dshsL_srrallSer &, Guwrdss seofhEsrt

sewhig, Augashs v wropsf G eppk Segrpphetu wrhpsfe B T
puirfisg siar alpusear whpb SLsr Qe s &ewra L ayi.

il i aiflaugri =

2018, arired 1 oyeirgy Emoysdr T 2019, writd 31 myern Fmoigssr T
LR KL e e & 240,000 |upue searreflser 2,20,000
Gumpashsfiu wrhpss CH 30,000 uhua s el HEsTT 1,50,000
L sLafBEsTT 120,000 | Qupesbsfiv wrbpdd G 8,000
Gl b agpEtu wrhpdd CE 10,000 Segnmiashs i wrpmed 20,000
p gsaussd z ¢
s_smraiaeiBmse Cupp Grrdsds 6,00,00 Regibgiaspinfiu wrhpiFfCE

. T i g g 30,000
QU EmSLTTGEE SESHTE@UE e Gugaghgiio wrhpsd CHasrs Glrré&LD
sealiGsrme oeiss Grrése  3,20.000 | Qupng §0,000
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FTEE SjaigEHTilen Gupn sergmuy 10,000

Glumisu g DemFlwr wrpmF &5
4,000

WSS L gy
STy mLsr 15,00”
a) Rajan does not keep proper books of accounts. Following detalls are taken from his
records.
. Particulars 11.2018 ¢ [31.122019 ¢
Cash at bank 80,000 80,000
Stock of goods 1.80000| 140,000
Debtors 00,000 2,00,000
Sundry creditors 1,320,000 1,895,000
Bank Loan 80,000 60,000
Billz payable 80,000 45,000
| Plant and machinery 1,70,000 _'T.?'D.ﬂﬂﬂ

b)

During the year he introducad further capital of 2 50,000 and Wwithdrew %.2,500 per month
from the business forhis personal Use. Prepare statement of profit or loss with the above
information.

(OR)
From the following details you are required to calculate credit sales and cradit purchases by
preparing total debtors account, total creditors account, bills receivable account and bills
payable account,

Particulars T
Balances as on 1st April 2018

Particulars ?
Balances as on 31st March 2019

Sundry debtors 2,40,000 Sundry debtors 2,20,000
Bills receivable 30,000 Sundry creditors 1,50,000
Sundry creditors 1,20,000 Bills receivable 8,000
Bills payable 10,000 Bills payable 20,000
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Other information: ¥

Cash received from debtors 6,00.000
Discount alliowed to customers 25,000
3,20,000
Discount aliowed by suppliars 10,000

Cash paid lo creditors

wemsdlsfmbg 2019, wrid 39

Payments against bill payable

Bills receivable dishonoured
Bad debts

s slFsvalerdsmmbmeg sumt Glie b,

30,000
Cash recaived for bills receivable B0,000

4,000

16,000

42.5) Lpdargni Opersrs Fmeudrgmend weitmd et Gl dos s wehmin blrgyd s sersear
S0 BrEerrE g e uph gL U (T} 61 T 1

i Suigsedae | ¢ Qg Gigpeametr v ]
| Glgr s Glmoy - sos Gyrdsi | 14,000 | stbusn 20,000
8 g 1Bl mgr 5,000 | arens 24,000
:MI‘I‘ 55,000 | vwenrF Glsoaysar 2.000
Py — 48, 000 Sy% b 8,000
TG G i
susmpayd &1 L emrin 7.000 | wsdf Gusi Glrdiss 50,000
Hempsais all Hmng) 16,000 | almsrusrd § 33,000
(s ® walliog F17,000) o s e ST s alug)
Ciy &
fﬁ? @:rrés Wik
1,45,000 1,45,000
(oysieug)

) £8y GarHasin ganrisallalmbs @i el B wairmgler 2018,
yFout 31 b mr@arrm (paen_ g sy el (BT Gl s st s WD S s GE s

HEWTE &S FwTi ey,

allourin z aflsurib | ¢
maClrrdsd (1.1,2018) 4,000 | Spdnasc e ennd Gegysdug 2,500
P SlarBdism 3.000 | urgsrOy QU L s L ensl 1,000
Sluhng i
e o myi e 10,000 | Gigr i ailamarur G Gum g 14,000
SL_Lsnrin @i ne 6L &y ST
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spar QuppE 15,000 | Ggr i sfleeruirc G Gurigd | 10,500
' {al F pumy® 6T
arismasl blubhns 2 000 | ipset (s s rslugg 25 000

a) From the following receipts and payments account of Tenkasi Thiruvalluvar Manram,
~ prepare income and expenditure account for the year ended 31st March, 2019.

Receipls | 7 Payments 7
To Balance bid ” By Salaries 20,000
| Cash in hand 14,000 | By Rent 24,000 |
Ta Interest received 5,000 | By Travelling expenses - 2,000
Ta Subscription - 56,000 | By Printing and stationery 6,000
To Legacies 48,000 | By Investments made 50,000 |
= . . By Sports equipment
To Entrance fees | 7.000 | purchased 33,000
To Sale of furniture 16,000 | By Balance c/d
(Book value: ¥
17,000) Gash in hand 10,000
! 1,435,000 ws \. L 1,45,000
(OR)

b} From the information given below, prepare Receipls and Payments account of Kurunji
Spors Club for the year ended 315t Decamber, 2018

Payments 7 Payments ¥
Cash in hand Paid for printing )
(1.1.2018) 4,000 i.‘-hargEE_ 2,500
Lockers rent
Salaries paid 3,000 | received 1,000
Life membership foes 1 -
received 10,000 | Toumament receipts 14,000
Tournament
Subscription received 15,000 | expansas 10,500
| Investments
| Rent received 2,000 | purchased ' 25,000
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43-5‘} L'IT-l'-i'qug.Lb L TERE e T T El[rrrﬂr wmmun Elrrent srarn S reflsat e s

HEENTESHEMEOT D TEanen pHe, Bl psars @mEgn Surg surflEsay) b,

el gris ®yragr ¥ ﬁ]fﬂ'ﬂuﬂ ¥

2019, marsudfl 1 myermy 1o 1,00,000 80,000
2019, gpawraud] 1 syebrmy B iy sewd e (o) 5,000 3,000
2018, gfar 1 mfsd pad Ssrar 10,000 30,000
LTk 20,000 13,000
2019 ayih gy sivmg 60 &aT(H 0L ST 500 300
TR ST i) ol iy 10.000 8000
2019 D @Ferry LE : :

ﬂ_f Feoru udig 6,300 5,400
P& Bl AL g
a1 9,000 2,400
myflay 2,700 1,200

(o)

) sslusT  whpe e wslodr  Eoagmb g Sl rarenw  Flmueusrd gl
wn i _raflsar, Saisst shsst @eaorogey dsenar 107 erdin wildlagdlda i
o maleirpeerd. (2018, mewanil 1 g syaufssmew gesd wpenGw T20,000 whprb
F10,000. s i_rsiwenio splismau el e g o e o anm & Eg_@j'll'.rl.ﬂ@d‘hgﬁ.
() wpme gy ' g suawREE 5% syeflss CaawGin.
() syypadiusir wHmnb 2 wadiusr @ mamsmd afilyss farer ey openpGu § 200
wimmnh T 300 mayeweh.
() gpmet 18mr sl oy infypud e@oysdr gy ailig  sPlGUEDE  apsny 8 s
Bmreusrfflar Bar Faron 18,000
St L TENSEREILIL (pFe wrpuEh s gors Haram® Gsepaiwrar oo G
uglnilenend  srepd  whHmd 2018 gedod 31 b srevene Eleruzd Ol

SEmTEmELLD & urE GlFdiajin.

a) From the following information, prepare capital accounts of parners Raja and Rani,
when their capitals are fixed.
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[ Particulars ' Raja Rani
' r |

 Capital on 1st January 2018 100,000 80,000
_Gurrenl account on 1st January 2018

(cr.) 5,000 3,000
Addiional capital introduced on 1st

June 2019 10,000 Bﬂ.ﬂi_ﬂ_

Drawings during 2018 20,000 | 13,000

Interest on drawings S00 | 300
| Share of profit for 2018 10,000 8,000
-_1nterosl on capital 6,300 5,400
' Salary 9,000 2,400

Commission 2,700 1,200 ]

{OR)

b} Alagappan and Ulagappan are pariners in a firm sharing profits and losses in the ratio of
10:7. On 1st January 2018, their capitals were ¥.20,000 and ¥ 10,000 respectively. The
partnership deed specifies the following:
i, Interest on capital is to be allowed at 5% par annum.
i. Interest on drawings charged to Alagappan and Ulagappan are F 200 and ¥ 300
respectively,
ji. The net profit of the firm before considering interest on capital and Interast on
drawings amounted to ¥ 18,000.
Give necessary journal entries and prepare Profit and loss appropriation account for the
year ending 31st December 2018. Assume that the capitals are fluctuating.

44, o) s ps 4 gewser srrad Farosgle 3 gyt Sarshpse sTamn pglusn el
s (5 @rTaf @Georu apempamud uweruBEgl, mheuwflsn welnfmen s & ERTHE LAl
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S T (R} Eeorui ¥ it T
2015 wo00| 1
2016 12000 2
2017 16,000 3
2018 18,000 4

(coysiaugt)

&) Wemaumn allurdiselaSmbs, eowuf Farusdd 5 seanPedar Garaypsdd sep
Aty Civen_ufldr mnEluwfiar wilimus sersdloayb.
() waru@Ssouc e gpsd T 1,20,000
(i) sraorer Fery alldgn: 20%
(i) goig syt Bems&arar Ssr @aruhn yeen@w 2014: F30,000, 2015 32,000,
2016; ¥35,000; 2017: 337,000 wogee 2018: ¥40,000
(i) s mrafisgms srar e enyiygfld pobrEae T 2,800

a) Find out the value of goodwlll at three years purchase aof weightad average profit of last
four

vear ¥
Year Profit(¥) |  Weight
2015 000 | 1
2016 12,000 2
2017 16,000 3
2018 18,000 4
(OR)

b) Calculate the value of goodwill at 5 years purchase of super profit from the following
information:

i. Capital employed: #1,20,000

ii. Mormal rate of profit: 20%
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iii. Net profit for 5 years: 2014: T 30,000; 2015: ¥ 32,000 2016: ¥ 35,000; 2017: ¥
37,000 and 2018 ¥ 40,000
iv. Fair remuneration to the partners ¥ 2,800 per annum.

45, sy} LTSS HID ST STETT et T ST Eewru sl tisemer 3.2 aggn afl gl

Lkl subgenit. syauraeallsar 2018 wrid 3140 sremera @ mery Henadmaliny

il eiraumwnamy.

! @ Lm g Cn desir T | L (el s B o 6T 1 ]
PESY e S T ST s Sl af! 40,000
LT as T 4.00,000
FRsT 3,00,000 7,00,000 | sursemi 1,60,000
el 1,20,000 | swdadlminy 4,00,000
o 8 4 —
EI e ‘I.ED.QDG & L rat&er 3,60,000
Spryflaoreet 80,000 | s Glrrdsd 40,000
w1 (5wl

| 10,00,000 10,00,000

\lgirau min alaersisaie sygLm Ty Bede by ssuai 115 ubadllb e
So L raflwrss Errhalil L mi.
(i) Posardfar po@owt T75,000 erar el O g Slrsvands eng HhG Lanfis
gemgueni i Ukdenar Srrdswrss Saran( abgr
(i) Griasgmamr €1,50,000 yoaorad Sarami apsTr
(iil) eurmemn ¥2,00,000 sram @iy 13,80,000 s evraflsdr ¥ 3,50,000 sre
[T0F. (W T T T Y8
{iv) ergluridsiu@io Saryfaorart el @ fld Lsran Gsrfisens 10,000
(v) uglaymr gpsaf @ T 50,000 semdalsd blesranfl aruc L g.
(i) i vnier Gueg wpudiind’ G semég Feoruwrs T15,000 sroguwgy,
apme s whmih Gedasgimruilar Ssitfpsilsar @moy enaidimdldisniieb
ST Bleis.
(cmysiew i)
a5,) wenfl, gior whpnh Herr gollu Sl L raflser ghaeflen @aropc nnene 4:3:3 asrm
affssde udlipa amsert. 2019 weid 31.g0 praren Do Spefs@manLw Flimo

Hlansudgmiioy Llerangurm
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S Ly & _ T | PAELrE TLE T ¥
R F T 80,000
5 T 5 5 B 6T
wefl 50,000 s ooy 20,000
| guor 50,000 S ST F G0 ET 70,000
Famr 50,000 1,560,000 | sswrafissr 20,000
LDLIED 20,000 | soatlrrésd 10,000
S GEETE
(Eeorusl L& 30,000
ot sy i

2,00,000 2,00,000

Remaumin sAs Hadsgnde oo { wefl ereruat 31-3-2019 e

ant L redrenoullefl mig aladlarrit.
(i} sréfmodsr wdinie T 5,000 gaopss GarsbrEib.
(i} ppwsser gass 31,000 o mardis EaasmhiD.
(i) s salse ¥16,000 wlluBufimii Blelur Gasar .

(V) wemfld s Ssgubs Gusimgw Gpds Garms Geignd Srgnssiualdame,
e F sairs s Gnpih allasgud sl Fer sl Jrelsefls g s iy Sem b Lmen s

Suri Glais,

a) Baskar and Shankar are partners in a business sharing profits and losses in the ratio of

3:2, The balance sheet of the pariners on 31.03.2018 is as follows:

Liabilities ¥ F Assets ¥

Capital accounts: Computer 40,000
Baskar 400,000 L Motor car 1,680,000
_Bhankar 300000 | 7,00,000 | Stock 4,00,000 |
Profit and loss 1,20,000 | Debtors 3,60,000
Craditors 1,20,000 | Bank 40,000
Workmen compensation
fund 60,000

10,00,000 10,00,000
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Sellathurai is admitted for 1/5 share on the following terms:
(i) Goodwill of the firm is valued at © 75,000 and Sellathurai brought cash for his share
of goodwill,
(i)  Sellathural is to bring #1,50,000 as his capital.
(il Motor car is valued at 2,00,000; stock at ¥3,80,000 and debtors at #3,50,000,
(iv)  Anticipated claim on workmen compensaton fund is £10,000
{vi  Unrecorded investment of 5,000 has to be brought into account
(vi) Revaluation account shows the profit of £ 15,000 on the date ufadmissiun.
Prepare capital accounts and balance sheet after Sellathurai’s admission.
(OR)
b} Mani, Rama and Meena are pariners in a firm sharing profits and losses in the ratio of
4:3.3. Their balance sheet as on 31st March, 2013 is as follows:

Liabilities ¥ ¥ Assets F
Capital accounts: o Building E0,000
Mani 50,000 Stock 20,000
Fama | 50,000 Fumniture 70,000
Meena 50,000 1,50,000 | Debtors 20,000
Suridry Creditors - |~ 20,000 | Castiin Hand 10,000
Profit and loss Al _ 30,000

2,00,000 2,00,000

Mani retired from the parinership firm on 31.03.2019 subject to the following adjustments:

(i} Stock to be depreciated by T 5,000

(i}  Provision for doubtful debts to be created for #1,000.

iy  Buildings to be appreciated by 16,000

{iv) The final amount due to Mani is notl paid immediately Prepare revaluation account
and capital aceount of partners after retirement.

46. =) wgr aremrwgy Foied 10 efsi 1,00,000 vdigmsaar Surgiessailn lausflufi L g,
el stwemrCiogglar Bura 13 gasdl e Gurg T4 Fsi Ssmaniu@hoGurg Gegissiiu
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Ceavamr®in. 140,000 vhgsmss  aflesramutsda Gupintar,  Fuwdmenissr
Rerausurg gasdm Qsipar,

60,000 ukmapmEsTen el — B 6 Eidh a5 Glrdiwin g
19,000 uilimssmésror alsmarois- 40,000 uigsar pudlB Srduduce g (108
Clarens @&l 1gd #A QedudinEin)
5,000 uiigspmsarar alldmammiiug — egbd sTHILD (§lsbene,
HETES GnT@ssEE  Wenursd  Gupliod e, FHELCHE GErens Gupag
wenraiisrsr GAOFUC GO udasmens srayh. g o fiserg alml Gerudgymnd
Spfogs el ullsr g5 LugGHurmin.

(-opstsog)
) afl&ri dpnen udbGlsrdny 10 ofgn 10% ppemamogald Seavaflulll o g
Els s gy sl e Liga s Gurg ¥ omafc e Gurg T3 (upemarno oo
tpmel syempi s Guirgs 13 wihpit §rew min ik &St senygplferEurg 83 ams
legys i CarsmBib.
Uil stnsu B s esw s afli Likgsabar PRIOLpOy Grdiushe Speva wirsr wel BuC G0
Loy enand maeyih.

(1) S0 ukimsmar endig sl mam o s wri sren Eiredr i whmpb Gy
Mo Sgremnenw Begibs safusrd samac LB ST i O iy
Ol it g,

(i) 90 viigmenar eneus ) ma i all&daray setual gasdl B Oxroms, {Lpgs
SpCy wopih Freveord whpih §od sepigs Gsrems Gegiss sadlusTd
SfHENL W uighsa gl @ediudiun sr.

(1ii} 50 vdiggmenar anaufdl masih wrgssi arsira SHELC B DErems whpnh wped
el Clarms Grguds saplugsrd e el e syamen_w
Lt poic e digd S dienion e,

a) Latha Ltd, offered 1,00,000 shares of ¥10 each to the public payable ¥3 on application,
¥4 on share allotment and the balance when required, Applications for 1,40,000 shares
were received on which the directors aliotted as:

Applicants for 60,000 shares - Full
Applicants for 75,000 shares - 40,000 shares (axcess money will be utilised for

alictment)
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Applicants for 5,000 shares - Nil

All the money due was received. Pass journal entries upto the receipt of allotment
maoney.
Also show the working notes, which is part of your answer,

(OR)

b} Vikram Company issued shares of ¥10 each at 10% premium, payable T2 on
application, ¥3 on allotment {including premium), ¥3 on first call and 3 on second and
final call. Journalise the transactions relating to forfeiture of shares for the following
situations:

{i) Sasikumar who holds 50 shares failed to pay the second and final call and his
shares were forfeited.

(ii)Vignesh wha holds 50 shares failed to pay the allotment money, first call and second
and final call money and his shares were forfeited.

{iii) Madhavan who holds 50 shares failed to pay the allotment money and first call and
hig'shares were forfeited after the first call,

47, 3y) wrevlsh susmywm Fonogdien 2018 wrid 31 whmek 2020 wrid 3 Esrar Surg)
sperey B flena sl dme purt Ssdwngb.

allairin 31 wris 2018 3 wrié

t 20202
LIl speU STl ofma
AT
ukigsTrr gla
A LIRS (e 5,00,000 5,00,000
S ST Wil 4,00,000 3,60,000
Wi mmad G ST
Fefr sred L GTEST 8.,00,000 240,000
JRL_Ehy AITE g TS
T Epiﬂ‘l.i]- mﬂﬂﬂ_ﬁﬁ- 3.00.000 i
(S 0T L WS G 6 T ok ]
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Qo i 20,00,000 12,00,000
_ Qemjgasi : :

EawL srad Qg b

2. Blenend Bl gigadimam 10,00,000 6,00,000

4 BerLsra) upsel B 5,00,000 2,40.,000 |

B GlErgsisssT

orddfmin] s 3,00,000 1,20,000

e i 200000| 240000

Glurgsin 20,00,000 12,00,000

ETE AR 7))

) Rrefar Wnyndfer Jebrasmin aswfls B domssarsdmhbs
(i) Sorgs Eeoru afldsn

(i) Far @eorw aldlsn

(iiil) Bk oy snallamw aldlgn

(V) Blwss Flaory aildsn searddloai.

L el r
allhusnear ppant Blubhm o 20,000
@Sy smuorarn WG apalh agaimd 200
Elomds o el 20,200
MESETES | .
Bl&rarppme blewys o dqser 17.000
Fr&al Ry wrhmen i 1800
FglFri Blaaramedr 300
Elsr Gesapmear (Fiarsd whnib 2400
allHuamear) ,
@l s Gl oy sir 18,700
S ke TSl 60 suildign (TR B STer 1,500
®umuih
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al Prepare common-size statement of financial

2019 and 31st March 2020.
B Particulars 31st Ma‘chzﬂm 31st March 2:]24]*
E 2
| EQUITY AND LIABILITIES 3
Tsharehnldam‘ fund
a) Share capital 5,00,000 6,00,000
| b) Reserves and surplus 4,00,000 3,60,000 |
| 2. Non-current liabilities
_Lﬂ-l'l-'l;-'['E_:I'm borrowings 8,00,000 2,40,000
3. Current liabilities
_Tr.EIdE.' payabies 3,00,000 - |
Total 20,00,000 12,00,000
|| ASSETS !
1, Non-currént assets
a) Fixed assets 10,00,000 £,00,000
1) Non - current investments 5,00,000 2,40,000
2. Current assats
Inventories 3,00,000 1,20,000
 Cash and cash equivalents 2,00,000 2.40,000
Total 20,00,000 12,00,000
(OR)

b) From the following trading activities of Praveen Lid. Calculate

(i) Gross profit ratio

iy  Met profit ratio

(iiy  Operating cost ratio
(v}  Operating profit ratio

position of Yasmin Lid as on 31st March
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Particulars E

|. Revenue from n.paralinns 20,000
H. Other incomae:

Income from investments E'D‘D
lIl. Total revenues 20,200
_IE Expenses:

Purchases of stock-in-trade 17,000
Changes in inventories -1.000
Finance cosls E'DU |
Other expenses (administration

and selling) 2,400
Tolal expenses - 18,700
V. Profit before tax 1,500 !

g\'%

S
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